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If there are witnesses why does ‘another’ have a Chazokoh

OVERVIEW

The X711 is attempting to ascertain under which circumstances does the 71wn rule
that an MR has no 7P, however a non-1»R, has a 1p1n. It cannot be in a case
where there were witnesses who saw that the item was transferred to the recipient
(with the intention of returning it to the owner), for in that case why does the
‘other’ (non-12IX) have a 1pmm. Our nvoIN further clarifies this case.
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And it appears to M»doIN that this case of 07y X2°X which the X n3 rejects (as the
case where P11 12 PR 12X, but P17 17 w0 NR) is in a situation of 8", for if it is in

a situation where 7182 89, so an 18 would also have a 71?11 and be believed with a -
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129 that he could have claimed, ‘I returned it to you’, for it is not necessary to

return the item in the presence of 2°7v, so certainly it is a case of 71X -
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So therefore the X713 asks (if there are 27y [and 7X7]) why would another (a
non-121X) have a 7P, since there are 27y that it come into his possession as a

117”2 (so he cannot claim that he bought it from him initially) -
= N 99NV Y NN 123 JYVIY I8 XD

And the 71X also cannot claim, ‘I returned it to you’, since it is 789, Therefore
concludes the X7n3 it must be in a case where X1 0°7¥ X2°2 where an 7P 12 PR 12X, however
PTAY WY NN,
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And it appears to the >''1 that the s'n''% explanation is very far-fetched, so
therefore n1901n did not write the n"o.

SUMMARY
When the X3 asks 297y XO°XT X 1S means X 277V RN,

THINKING IT OVER

! 781 means that 0>7v saw the item by the 12X at the time of the n">7.
2 The X"mx concluded previously on 2,72 that even 727 agrees that 0°7¥2 12 A% % PR 0792 1720 28R Tponi.
Therefore he would be exempt from returning it (or its value) if he would have claimed 7% »namn.
3 See 0" .
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Did our m901n add anything to the 2"2w" "5 (in the R3°X7 X 77'"7)?
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